10 | ) 8 | 7 | 6 | S | 4 | 3 | ) | 1
BILL OF MATERIALS
ITEM| QTY. U/M | PACKING ISP INT [ DESCRIPTION
H 1 1 EA DRIVER SIDE HEADER SECTION H
2 1 EA PASSENGER SIDE HEADER SECTION
- 3 1 EA 16” 02 SENSOR
4 2 EA GASKET- 2.25” 3-BOLT
) 6| EA BOLT- 5/16- 18 x 1 1/2
G 6 6| EA NUT- 5/16- 18 STOVER LOCK G
7 12| EA WASHER- 5/16 AN
] 8 12| EA NUT- 8MM- 125 COPPER
9 1 EA WRENCH
a a
E E
D D
C C
B | | | | B
_ [DEBURR ALL SHARP EDGES| REV. | DATE |E.CN. NO] BY
| SEECIEICATIONS OF TOLERANCES: C2/4 HEADER W/HEAT 175"
UNLESS OTHERWISE NOTED:
DO NOT SCALE DRAWING
] HOLD ALL DRCIMAL DIMENSIONS T3; |~ “’“% DWN: JJY/AWL |
XX = 20,050 DATE: 11-12-03 SHT: 1 OF 1
XXX = 20010 APPROVAL DATE: [APPROVED BY:
A ATIEREED uSE, ePROCTIN &R | Billy Boat Performance Exhaust |/
DTHER DISCLUSURES. ARE PROPERTY OF|  UNITCS) [0 R T IRAVIG WD
BILLY BOAT PERFORMANCE EXHAUST INCH FPOR0&00
10 | 9 | 8 7 6 S | 4 | 3 | al | 1

Find more Billy Boat Exhaust products on our website. Learn more about performance exhaust systems we offer on our website.


AutoCAD SHX Text
A

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
10

AutoCAD SHX Text
9

AutoCAD SHX Text
8

AutoCAD SHX Text
7

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
DRAWING NO.

AutoCAD SHX Text
UNIT(S)

AutoCAD SHX Text
APPROVAL DATE:

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
DATE:

AutoCAD SHX Text
SCALE:

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
JOB NUMBER:

AutoCAD SHX Text
APPROVED BY:

AutoCAD SHX Text
DWN.:

AutoCAD SHX Text
SHT.:

AutoCAD SHX Text
REV.

AutoCAD SHX Text
DATE

AutoCAD SHX Text
E.C.N. NO.

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
BY

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
G

AutoCAD SHX Text
H

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
BILL OF MATERIALS

AutoCAD SHX Text
PACKING ISP INT

AutoCAD SHX Text
QTY.

AutoCAD SHX Text
U/M

AutoCAD SHX Text
HOLD ALL DECIMAL DIMENSIONS TO;

AutoCAD SHX Text
HOLD ALL FRACTIONAL DIMENSIONS TO %%P1/16

AutoCAD SHX Text
X.XXX = %%P0.010

AutoCAD SHX Text
X.XX = %%P0.030

AutoCAD SHX Text
X.X = %%P0.050

AutoCAD SHX Text
UNLESS OTHERWISE NOTED:

AutoCAD SHX Text
SPECIFICATIONS OF TOLERANCES:

AutoCAD SHX Text
DO NOT SCALE DRAWING

AutoCAD SHX Text
BILLY BOAT PERFORMANCE EXHAUST

AutoCAD SHX Text
OTHER DISCLOSURES ARE PROPERTY OF

AutoCAD SHX Text
IS PROHIBITED. DRAWING, DESIGN AND

AutoCAD SHX Text
MANUFACTURE IN WHOLE OR IN PART

AutoCAD SHX Text
UNAUTHORIZED USE, REPRODUCTION OR

AutoCAD SHX Text
DEBURR ALL SHARP EDGES

AutoCAD SHX Text
11-12-03

AutoCAD SHX Text
C2/4 HEADER W/HEAT 1.75"

AutoCAD SHX Text
FPOR0600

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
JJY/AWL

AutoCAD SHX Text
NTS

AutoCAD SHX Text
INCH

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
DRIVER SIDE HEADER SECTION

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
PASSENGER SIDE HEADER SECTION

AutoCAD SHX Text
3

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
16" O2 SENSOR

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
EA

AutoCAD SHX Text
GASKET- 2.25" 3-BOLT

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
EA

AutoCAD SHX Text
BOLT- 5/16- 18 x 1 1/2

AutoCAD SHX Text
6

AutoCAD SHX Text
6

AutoCAD SHX Text
EA

AutoCAD SHX Text
NUT- 5/16- 18 STOVER LOCK

AutoCAD SHX Text
7

AutoCAD SHX Text
12

AutoCAD SHX Text
EA

AutoCAD SHX Text
WASHER- 5/16 AN 

AutoCAD SHX Text
8

AutoCAD SHX Text
12

AutoCAD SHX Text
EA

AutoCAD SHX Text
NUT- 8MM- 1.25 COPPER

AutoCAD SHX Text
9

AutoCAD SHX Text
1

AutoCAD SHX Text
EA

AutoCAD SHX Text
WRENCH

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
3

AutoCAD SHX Text
8

AutoCAD SHX Text
9

https://www.carid.com/billy-boat-exhaust/
https://www.carid.com/exhaust-systems.html

	Sheets and Views
	FPOR0600-Layout1




